Practice

State the base.

6
1(%) 2.(=5)2  3.-1* 4. (-9)
State the exponent.
5 -2° 6. 4’ 7. (-4)° 8.-5

Write in exponential form.

o (£) (1) (5) 10 3)=3)-3)-3)-3)

M pXpXpXpXp 12 (=n)(~n)(-n)(-n)
13. 3 X3 X3 x(=2)x(-2)x3x(=2)
Write as a repeated mudtiplication.

__.1 3
6. (1)

14. (-2)° 15. -2°

Whrite in standard Sorm.

17. 32 18. (-3)° 19. (-1)*

20. -1° 21. (-5)° 22. 53

23. (-0.5)°  24.1.1% 25. (=2.5)?
Simplify.

26. 5% x 56 27. (-8)%? x (-8)?

28, (=2)3(=2)*
30. (~2.1)5(=2.1)}

20. (%-)3 x (%-)4

31. (—0.2)°(-0.2)?

Simplify.

32. 5%+ 5% 33, 6% + 67 3a. <"0'4>; 35. ("9):
(-0.4) (=9)

Simplify.

36, (23)? 37. ((-3)7)*

2\ 3 .

se. (1)) 9. ((=6)°)

40. ((—4)8)7 41. ((-23)%)*

Simplify.

4, .2 1V 1y
42. x" X x 43. (}) + (y)
44, z% + 45, (%)6(%)4 A
a6, (s2)* a1. ((—r)*)?

28

Simplify, then calculate.

48. (=5)? x (=5)?

50. (-2)°(=2)°(-2)*

52. (-3.1)°(-3.1)°

54. (-10)° + (~10)

Calculate.

56. 25 + 24

58. (—5)? x (=5)3

0. (-4)° ><(_—4)5
(-4)°

62. (-2)3(-2)°

64. ((-2)°)?

6

Evaluate.

66. (—8)*

68. (-3)%(6)?
70. 4° —3°

72. 97 + (=2)°
74. (1.3)%(=2)*

76. Evaluate for # = 3.

1 n’
V5 Py

49. 6° x 6°

51. (-1)°(-1)7
53. (=3)5 + (=3)*
55. (—4)5 + (—4)°

57 (=3)7 + (=3)
59. (32)
_4

4% x 4?

63. (-3)%(-3)°
65. (67)% + (6%)?

61.

67. 6(—4)3

69. (-1)° + 33

7. (=2)5 x (=3)*
73. (=5)2(=4)*
75. (1.5)2 + (=5 )3

ol+7n° d)n’ - 6n

77. Evaluate for x = -2 and y = 3.

2
a) x° b) Sy* ) %2- + y?
3.3
d) = o (x=y)°  f(y-x)
2.3
g) *xg h) 4«3 — Sy i) (3x2 )(=2y?

Problems and Applications

78. Use the guess-and-check strategy to find

the value of «.

a) 3* = §1
ox’ =1024
e) —5% = -425

g) (0.2)% = 0.0016

b) (=2)* = —512
d) (=) = —1000
f) —x? =-1.69
h)x’ =-0.216



Practice

Simplify.

1. (x)?

4. (n?)?
Simplify.

7. (x2)3
10. (n°)*
13. (2%)°
16. (—s10)?
Simplify.

19. (ay)?
22. (mn)* *

25. (dxy)?
Simplify.
28. (x%y?)3
31. (ab?)?
34. (°k*)?
Simplify.
37 (2x%)3
40. (5y%)?
a3. (=2n*)}
46. (-3y2)°
Simplify.

4
49. (%—)

3
2%
52. (SC)

Simplify.

55. (2x%y% )2 («%y)
57. ('ny2 ) (3x%y?)

2. (a)’
5.(~3)?

8. (y')’
1. (2%)3
14. (m*)’
17. (=x)3!

20. (2b)’

23. (pg)’
26. (-2ax)’

29, (x’y?)?
32. (mn)’
35. (x%y)?

38. (3y°)?
8. (-m?)?
aa. (-3y*)?
471, (4x’y?)?

59. (2470 )(—3ab)3(104%5%)

34

3.(p)°
6. (=)’

9. (m?)?
12. (y?)°
15, (p'8)?
18. —(-4°)°

21. (~wy)’
24. (-2xt)?
27. —(375)3

30. (a°h)?
33, (—ab?)?
36. —(5°12)°

39. (4x*)?
42. (—n*)3
as. (3pgr)’

48. —(3xy°)?

56. (—3xy)(-2xy)*
58. (10abc)*(-24%bc)

Problems and Applications

60. Write and simplify an expression for the

area of each square.

, ;—j‘ " fﬁ

I
-

| 4 :

2Xy 4X2y3

61. Write and simplify an expression for the

volume of each cube.

62. Find the volume
of this cube if
a=15b=2,

and ¢ = 3.

a2bct

1% 63. Does replacing the variables by their
?: opposites, x by —x and y by —y, result in
Wlif the opposite of each monomial? Explain.
¥ a) (3aty?)? b) (3x%°)*

\}\.// ,
"‘_‘},MEMBER POWER

- Copy the diagram and place the
numbers from 1 to 9 in the circles
so that the
consecutive

sums of ot 3

each side : /_) =i )
differ /;) ,\" )

by 4.




Section 1.8 pp. 28-29

Practice 1.% 2.-5 3.1 4.-9 55 62

720 81 o (%)3 1.3 1Ly o (-n)t
13.3% X (<2 14 (-2)(=2)(=2)(=2)(=2)
15.-2x2x2x2%x2 18. (~i)(—é)(~%€) 17. 9
18.9 19.1 20.-1 21.-135 "33 ~-125
23.-0.125  24. 14641 25.6.25 26.5° 27.(-8)°

28. (-2)" 20, (%)/ 30. (-2.1° 31.(=0.2)° 33, 51
33 661 24. (-0.4Y  35.(-9 36.2¢ 37 (=3)%

38. (;-)—7) 39. (-6)"  a0. (—4)7 4. (-2.3)12 43, 46
43, (;) 4.2 a5 (o) 468 g (=)

48. (-5), 3125 49.67, 279 936 sp. (=2)10 107
51 (<D 1 52 (3,10, 85280 55, &?3 610&4
54 (<100, 10 000 s5.(~4)', 4 56 16 57, 720
58. 3125 50.729 60.-64 61236 63 205
63.-243 64,64 ¢s. 36 66.64 g7, -384

68. 324 69,26 70, 781 1. 2592 72, -10.125
75. 6400 74.27.04 5. 0.018 76 a) 0.02 b) 4.5
91702 9 71808 B)405 5 @70 o 12;
H25 g -13.5 n) 47 i) =216  Problems and

Section 1.9 p. 34

Practice 1.x° 2.4 3.p° an' 5+ 6-°
120 8.5 e.wmt 10.27 1 12 ¥°
13.27 1 15 p% 1620 11— gs. ]
19.x% 2020 2157 2wt 23 pg
28.4°F 25, 162% 26, -84%%° 212745
28.6%° 20.2% 30.40 3. 32034
33. 450" 3. /%° 35.2% 36.-1 37.8:° 38.9y
39. 162° 40.25y* ar.wmt a2 -n® 43 -8nS
4. 9" 85.99°4% 4. -2 Ty’ a1 —64x5y’

: .

6

. 4 5 3
48.-9¢" a9.7- s50.7 s1.-L 5 B ;
16 & » 125¢
3 8 <
53. —§"—g— 54. 9—55 55. 4%’ 56.-12¢°y 57242
4

¥
58. -2002%° 59, -5404°%® Problems and
Applications  60. a) 42’y* b) 16x%° 61. a) 274%
b} 125y6 62. 157 464 63.a) no b) yes



